2l rplidar im RPLidar
2 Detota a= gy

4 r numpy np
math

7 lidar = RPLidar('COM7')

9 dinfo = lidar.get info()
18  print(info)

lidar.clean_input()

all measurements = []

1, Scan enumerate(lidar.iter scans(max buf meas-4500)):
lidar.clean_input()
17 all measurements += scan
1% print("scan", scan)
print('%d: Got %d measurments' % (i, len(scan)))
i > 1@:

24 lidar.stop()

PROBLEMS. 30 DEBUG CONSOLE OUTPUT TERMINAL

AKX

 TERMINAL [5] powershens +~ @ B -

PS C:\Users\grace\OneDrive\Documents\CMU\tailorbot> python test._py

{'model": 24, 'firmware': (1, 29), 'hardware': 7, 'serialnumber': *FBEGEDFSC7E29BCEA7E39EF26B354304"}

scan [(15, 313.89375, 236.@), (15, 316.148625, 189.25), (15, 317.46635, 186.75), (15, 318.65625, 185.75), (15, 336.453
125, 487.@), (15, 337.484375, 489.5), (15, 343.890625, 469.75), (15, 346.59375, 472.75), (15, 349.878125, 479.75), (15
, 358.15625, 486.8)]

8: Got 10 measurments

Too many bytes in the input buffer: 457@/456@. Cleaning buffer...

scan [(15, 36.815625, 1113.5), (15, 316.815625, 189.75), (15, 317.265625, 186.75), (15, 336.846875, 485.0), (15, 337.4
84375, 488.25), (15, 343.796875, 468.75), (15, 346.0, 475.25), (15, 349.734375, 483.5), (15, 351.15625, 492.25)]

1: Got 9 measurments

Too many bytes in the input buffer: 4538/4560. Cleaning buffer...

scan [(15, 302.6875, 476.75), (15, 383.796875, 478.5), (15, 385.83125, 465.5), (15, 313.546875, 236.25), (15, 316.8156
25, 189.75), (15, 317.265625, 186.75), (15, 336.3125, 485.8), (15, 337.28125, 488.25), (15, 339.734375, 496.5), (15, 3
43,625, 468.75), (15, 346.265625, 475.@), (15, 349.875, 483.25), (15, 351.89375, 491.75)]

2: Got 13 measurments

Too many bytes in the input buffer: 4545/450@. Cleaning buffer...

scan [(15, 36.671875, 1119.@), (15, 384.484375, 468.75), (15, 305.671875, 464.25), (15, 312.398625, 239.25), (15, 314.
3125, 235.75), (15, 316.40625, 188.0), (15, 317.78125, 186.25), (15, 319.@3125, 185.75), (14, 344.28125, 472.0), (15,
347_0625, 473.25), (15, 350.59375, 486.0)]




